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A & 0l & A & F Al
20188 &= =0l &t LBl H AIE
2AM: N
M MEXA
Selr XA SELA (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
N & ot 2,230,873 1,590, 366 640,507
= 332,200
Al 1,898,673
ME X & 2,099,275 1,523,134 576,141
= 332,200
Al 1,767,075
KA SE Al 1,540,104 970, 381 569,723
= 332,200
Al 1,207,904
MBS Al 250,625 193,474 57,151
201 Let24E] 136,160 103,338 32,822
01 At 22l 64,540 33,600 30,940
OXZAN 22X M 5,000& = 1,000 5,000
ogags M 5,000& = 1,00004 5,000
OFIIE NYH URE2S KL
4,000,000& = 63l 24,000
OMBIHE ER+2(SEZ M)
80& = 18,0004 = 12& 17,280
O/ EINE Z2+=2=Z(ARS)
200& * 4,7502H4 « 12& 11,400
OFIIZ N&EA BXNW2 ME
1,000& = 150 63l 900
OX&A HOM, ZAH S2H 960
O&EHMZ 10,0002 * 1204 120
OHIt- 50,000& = 1204 600
oo2+g 20,0003 * 1204 240
02 =224l 71,620 69,738 1,882
OJNaHX dSAHEIA =2
80& = 56,0004 = 12& 53,760
OJNEHZER SMS ==2
173 = 7,500 « 12& 1,530
OSEANEFEFMAIAY 23 H|
300,000& = 12& 3,600
OAMRSE 2 AIAE 2 X 24|
1,800,000 = 43l 7,200
OJAAHEAAE KK =4I
1,382,500 * 43| 5,530
207 A O] 20,000 0 20,000
02 & A b 20,000 0 20,000
OMAAN(EXEZ) XA EXNFE UHEZZ]
2 20,000,000& 20,000
301 et d = 2,000 0 2,000
NIJIEEd=s 2,000 0 2,000
OXNYHM EH, ZAH S22 Al&Z 2,000




CNE D
M WEXA
P KM SZIA

CEHE .S (3H) - MBAY - B2 il HDS2
Ozxl244(29) 300,000& * 24 600
O4+4(49%) 200,000& * 49 800
OFAA(6Y) 100,000& * 6Y 600
308 X SHAMSOIA 92,465 87,755 4,710
10 3I2SHUHSZEAHAE ALY 92,465 87,755 4,710
OXNEYMEE3AS 92,465
OEZXNLNEEAALE 63,611,0008 * 13 63,611
ORAHA(SE XA 21,687,000& * 13] 21,687
OMNESEAIAE 2,873,000& * 13 2,873
OXMO NEMEEAAEIZE BPR/ISP ALY
4,294,000& * 13 4,294
HSAYMA 2 108,340 103,300 5,040
201 et A | 33,340 28,300 5,040
01 At 22l Yl 3,100 3,100 0
OXNYLMN HAYHMS oM 1,600& = 1,0000H 1,600
OXNLM SAGMA 2ALTH M E
150,000& * 100K 1,500
02 =329l 30,240 25,200 5,040
OHAYMA BFASIEF=IUE 01222
6,000& * 20CH = 21 * 128 30,240
301 dEtE A= 75,000 75,000 0
11 IIEtE A2 75,000 75,000 0
OMAN SAEMA 4ZA X2
50,000& * 1,500 75,000
HYLR A& 12,400 14,826 N2,426
201 et A b 10,400 10,400 0
01 AFR2 2t 2l dl 10,400 10,400 0
OXNZLAN & 2 50,000& = 130& 6,500
OXIZA CHLHEI HE(1T)
3,000& = 1,300 3,900
203 € R =&Y| 2,000 2,000 0
03 Al =X H R =X Y| 2,000 2,000 0
OXNLME gRFA 2,000,000 2,000
HE F=E =23 X AL 752,797 569,068 183,729
101 Q1 24| 185,941 286,750 100,809
04 JIZtHI22NEE 185,941 286,750 A 100,809
OMLEZEH SHEA LAAAOI2E
65,3803 » 38 * 68 168,942
OAZIEE = 16,999
O=30dHzEE = 168,942,000& * 4.5% 7,603
O=201A188d 168,942,000& * 3.06% 5,170
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X ZH -
L= B

el

MIE
HE X
KYA SEaA

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OFIQYEEE 5,170,000& * 6.55% 339
(ONE=30=: N g == 168,942,000& * 1.5% 2,535
Ot E &2 &= 168,942,000& * 0.8% 1,352
201 L2l 551,256 276,318 274,938
01 At 22l 513,250 241,150 272,100
OF=F=gaey=4 6,600& * 68,000= 448,800
ODIBAl REFSIIAME 242 2,650
OUE=Z2 (0t E) 50,000& * 35= 1,750
OuEx2(Hg, CHAIO)
30,000& = 30= 900
OMg=edIxd 2ZSXN2 M=
100& = 68,0002 6,800
OMBFLIIA HBTH 5
13,000& * 2,000& * 23| 52,000
QMg =edtA dog ML HMH
20,000& * 40% 800
OMNEFEINAE EH 220,000& = 104 2,200
02 8322l 38,006 35,168 2,838
OMEEIIA AHENS B2
300& = 70,550 21,165
OMNE = ZA/AAE X EHOIXK RXE=>
4,210,250& * 43| 16,841
405 XHoHF S HI 15,600 0 15,600
01 XL 2 ZFH S| 15,600 0 15,600
O AHaHH S HI 15,600
ONgEFEINAMEEZ BRH
1,400,000& * 10CH 14,000
Og=81AFE WA 600,0008 « 104 600
OMg=enAaAFzIE Z2lg
1,000,000& * 104 1,000
HEFEIASAI(Z 1) 332,200 0 332,200
= 332,200
101 1A bl 309,640 0 309,640
= 309,640
04 JIZHHZ2XNESE S+ 309,640 0 309,640
ONYFS SHTA LA A OB
65,3803 = 38H » 113¢ 280,742
= 280,742
OAMIIEBEZ 28,898,000 28,898
= 28,898
201 LBH2E | 10,560 0 10,560
= 10,560
01 At 22l 10,560 0 10,560
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PSS BN
¢l X

=l
=hE
SA ZE DA

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
CREEEFEESI=ET
8,000& * 10¥ = 11 » 128 10,560
= 10,560
202 o4 | 12,000 0 12,000
= 12,000
01 2L I 12,000 0 12,000
OME FEI AT AAE O4H|
20,000& = 10¥ » h * 128 12,000
= 12,000
NS ZEA A Al 4,260 14,848 A 10,588
201 et d| 4,260 5,550 A 1,290
01 AP 2t 2| bl 4,260 5,550 A 1,290
OXNLHAMEHEZAE HA oI M 4,800& * 700& 3,360
OX YA HdaAHEel 2ZAFIH H &
300,000& = 3o @l 900
SH=X8MHARH A 79,482 74,865 4,617
306 52 79,482 74,865 4,617
01 s 2 79,482 74,865 4,617
Ost=2XNYHARHA =
529,875,123,000& * 0.015% 79,482
N2l %=l 22| 436,858 424,858 12,000
M2+ s28 29 2 22| 600 4,680 N4 ,080
201 et 600 360 240
01 AFR 2t 2| H| 600 360 240
OMI+Y ABIE LRL2E
50024 = 100& * 128 600
M4+ HMgds & A 436,258 420,178 16,080
201 et 292,258 259,378 32,880
01 AP 2t 2] H| 168,740 150, 860 17,880
OHM 22 DX A 4 (0CR)
66,000& * 7082rA 4,620
OMAL=2L WS 224 (0CR)
20,000& * 150 3,000
OMZEY E x4 2,800,000& = 12&€ 33,600
oOSY )| S22yl 20,000 * 500 ~ 12& 12,000
OJIMHE =2 400,000& = 12&€ 4,800
OM24+ MY a2 8SE 58,520
Ol2 8Kz AlAY X E4H|
2,420,000 * 6H 14,520
Ol2 8Kz AlAY ol2x42
4409 = 100,000AH 44,000
OMYDXNAM &L LS oM & =
6 * 450,00024 29,700




2AM: N
M MEXA
S Mel=g 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFESE M= 100& = 60,0000H 6,000
OHIASIEH (LR, oHHM) =2
1,000& * 5004 500
oM=L EEA B3 1=
16,000,000& * 13l 16,000
02 2324l 123,518 108,518 15,000
OMIALEFEAIAEH X 2e
32,470,000 * 13| 32,470
oRERS 86,488
OBt 300& = 240,000 72,000
OS2l 1,930& * 7,000& 13,510
OsJlets= 1,630& » 6003 978
O XAALE RXE=H
330,000& = 12& 3,960
ONMEXE B HRE SER=S
50,000& = 12& 600
303 Z& 3 144,000 144,000 0
01 243 144,000 144,000 0
ONYH+ RTTLH 2sey
600,000& » 309H 18,000
OYMETLR FALND 18,000
Q20154 Ol 2 180,000,000 = 5/100 9,000
Q20169 & & 105,000,000& * 3/100 3,150
Q20179 & & 585,000,000 = 1/100 5,850
OAMZIEEHAIH HEZAS 108,000
Q201548 Ol& 2 1,552,440,000& * 5/100 77,622
Q20169 & & 585,000,000& = 3/100 17,550
Q20178 & & 1,282,800,000& * 1/100 12,828
NE=9 S 122,313 127,895 A 5,582
DM DEHYN MEgHE & E= 122,313 127,895 A5,582
201 Let2d] 21,513 15,970 5,543
01 At 22l 16,173 15,610 563
OHYHA SIEE =2 1,000& * 2700H 270
OLERSH TH44E
600,000& = 1624 = 25% 2,400
OuEEE oY MHIA OIER2
770,000& = 123 9,240
OMEX H23xX3 === (HIAX)
2,000& = 500A 1,000
OXXN HI3LE MulA 0= (NICEAIAE)
2,000& = 1,100A 2,200
OXX HILE == (HIXXF AlIAEHY)
50 * 1,250 * 1704 1,063
02 =224l 5,340 360 4,980




M N

M WEXEH

Sel KN E S EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXADIESXANLE OHY ABe
30,0008 » 123 360
OHEH ARANAY 2% SN2
415,000& = 128 4,980
303 Za= 100,800 100,800 0
01 Z&= 100,800 100,800 0
OYNZRY FHELAZ 17,000
020158 Ol =2 150,000,000& * 5/100 7,500
020168 &= 105,000,000& * 3/100 3,150
o20178 = 635,000,000& * 1/100 6,350
OAZEEHYINH E+Z&Z 83,800
OZ&EH=2H 665,000,000& = 10/100 66,500
020158 & Ol =2 316,000,000& * 5/100 15,800
o218 &= 50,000,000& = 3/100 1,500
HYSHAH (ME D) 131,598 67,232 64,366
el 2l 26,300 21,352 4,948
oI 24 d| 26,300 21,352 4,948
101 1Al 26,300 21,352 4,948
02 JIEt& E = 26,300 21,352 4,948
OANZ LML &4 26,300
OznIL4LY
8,117& * 9% » 30AI2t » 12& 26,300
Jl=23dl 105,298 45,880 59,418
=23l 105,298 45,880 59,418
201 fEt2E | 32,318 20,080 12,238
01 AFR2t2lHl 32,318 20,080 12,238
OJlzge=a8a st 500,000& * 29€& 14,500
OJI=ZHl (S&Hl)
8,0008 » 29 = 8 » 12& * 80% 17,818
202 o4 Hl 64,380 21,600 42,780
01 SLHO I 64,380 21,600 42,780
O©J1=&Hl 20,000% = 299 » 8¢ = 12& 55,680
Ou=s d=,ZAM FHHH  300,0008 * 29% 8,700
203 ¥R =&l 4,800 4,200 600
04 FEN2SYERFAH| 4,800 4,200 600
OJIFEZHI(302! olat) 400,000& = 128 4,800
405 KtabH S| 3,800 0 3,800
01 AL ESFH SH 3,800 0 3,800
OFSE=F<Enp)| 300,000& * 1CH 300
OZgH(A3EE2et) 3,500,000& * 1CH 3,500




